

matrix Laplace:

2012-UKU-T7.5

$a: a|m\rangle = \sqrt{n}|n-1\rangle$

$\langle m|a|m\rangle = \langle m|\sqrt{n}|n-1\rangle = \sqrt{n} \langle m|n-1\rangle = \sqrt{n} \delta_{m, n-1}$

0	1	2	3
0	1	0	0
1	0	1	0
2	0	0	1
3	0	0	0

$\langle m|a^+|n\rangle = \langle m|\sqrt{n+1}|n+1\rangle = \sqrt{n+1} \langle m|n+1\rangle = \sqrt{n+1} \delta_{m, n+1}$

0	1	2	3
0	0	0	0
1	1	0	0
2	0	1	0
3	0	0	1

$a^{e^+} = \begin{pmatrix} 0 & 1 & 0 & 0 \\ 0 & 0 & \sqrt{2} & 0 \\ 0 & 0 & 0 & \sqrt{3} \\ 0 & 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 & 0 \\ 1 & 0 & 0 & 0 \\ 0 & \sqrt{2} & 0 & 0 \\ 0 & 0 & \sqrt{3} & 0 \end{pmatrix} = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 2 & 0 \\ 0 & 0 & 3 & 0 \\ 0 & 0 & 0 & 4 \end{pmatrix}$

$a^+a = \begin{pmatrix} 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 \\ 0 & 0 & 2 & 0 \\ 0 & 0 & 0 & 3 \end{pmatrix}$

$[a, a^+] = a^{e^+} - a^+a = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 2 & 0 \\ 0 & 0 & 3 & 0 \\ 0 & 0 & 0 & 4 \end{pmatrix} - \begin{pmatrix} 0 & 1 & 0 \\ 1 & 0 & 0 \\ 0 & 0 & 1 \\ 0 & 0 & 0 \end{pmatrix}$

$X = \frac{\alpha}{\sqrt{2}} (a + a^+) = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \\ 0 & 0 & 0 \end{pmatrix} = \mathbb{1}$

$\langle m|X|n\rangle = \frac{\alpha}{\sqrt{2}} [\langle m|a|m\rangle + \langle m|a^+|n\rangle] = \frac{\alpha}{\sqrt{2}} [\sqrt{n} \delta_{m, n-1} + \sqrt{n+1} \delta_{m, n+1}]$

$X = \frac{\alpha}{\sqrt{2}} \begin{pmatrix} 0 & 1 & 0 & 0 \\ 1 & 0 & \sqrt{2} & 0 \\ 0 & \sqrt{2} & 0 & \sqrt{3} \\ 0 & 0 & \sqrt{3} & 0 \end{pmatrix} \quad X^2 = \frac{\alpha^2}{2} \begin{pmatrix} 1 & 0 & \sqrt{2} & 0 \\ 0 & 3 & 0 & \sqrt{6} \\ \sqrt{2} & 0 & 5 & 0 \\ 0 & \sqrt{6} & 0 & 7 \end{pmatrix}$

$P = \frac{i}{\sqrt{2}} \sqrt{\hbar m \omega} (a^+ - a) = \frac{i}{\sqrt{2}} \sqrt{\hbar m \omega} \begin{pmatrix} 0 & -1 & 0 & 0 \\ 1 & 0 & -\sqrt{2} & 0 \\ 0 & \sqrt{2} & 0 & -\sqrt{3} \\ 0 & 0 & \sqrt{3} & 0 \end{pmatrix}$

$P^2 = -\frac{\hbar m \omega}{2} \begin{pmatrix} -1 & 0 & \sqrt{2} & 0 \\ 0 & -3 & 0 & \sqrt{6} \\ \sqrt{2} & 0 & -5 & 0 \\ 0 & \sqrt{6} & 0 & -7 \end{pmatrix} = \frac{\hbar m \omega}{2} \begin{pmatrix} 1 & 0 & -\sqrt{2} & 0 \\ 0 & 3 & 0 & -\sqrt{6} \\ -\sqrt{2} & 0 & 5 & 0 \\ 0 & -\sqrt{6} & 0 & 7 \end{pmatrix}$

$\frac{P^2}{2m} + \frac{1}{2} m \omega^2 X^2 = \frac{\hbar \omega}{4} \begin{pmatrix} 1 & 0 & -\sqrt{2} & 0 \\ 0 & 3 & 0 & -\sqrt{6} \\ -\sqrt{2} & 0 & 5 & 0 \\ 0 & -\sqrt{6} & 0 & 7 \end{pmatrix} + \frac{1}{4} \hbar \omega \begin{pmatrix} 1 & 0 & \sqrt{2} & 0 \\ 0 & 3 & 0 & \sqrt{6} \\ \sqrt{2} & 0 & 5 & 0 \\ 0 & \sqrt{6} & 0 & 7 \end{pmatrix} = \frac{\hbar \omega}{2} \begin{pmatrix} 1 & 0 & 0 \\ 0 & 3 & 0 \\ 0 & 0 & 5 \\ 0 & 0 & 0 \end{pmatrix}$

$$H = \frac{p^2}{2m} + \frac{1}{2} m \omega^2 x^2 - |e| x E$$

classical

$$\frac{1}{2} m \omega^2 x^2 - e x E + \frac{e^2 E^2}{2 m \omega^2} - \frac{e^2 E^2}{2 m \omega^2}$$

$$A^2 = \frac{1}{2} m \omega^2$$

$$2AB = -eE$$

$$2 \frac{1}{\sqrt{2}} \sqrt{m} \omega B = -eE$$

$$B = -\frac{eE}{\sqrt{2} m \omega \sqrt{2}}$$

$$\frac{1}{2} m \omega^2 \left(x^2 - \frac{2ex}{m\omega^2} + \frac{e^2 E^2}{m^2 \omega^4} \right) = \frac{1}{2} m \omega^2 \left(x - \frac{eE}{m\omega^2} \right)^2$$

$$\rightarrow E = \frac{1}{2} \hbar \omega - \frac{e^2 E^2}{2 m \omega^2}$$

$$\rightarrow H = \frac{p^2}{2m} + \frac{1}{2} m \omega^2 \left(x - \frac{eE}{m\omega^2} \right)^2 \quad \text{OK}$$

$$H_0 = \frac{1}{2} \hbar \omega$$

$$V^1 = -e x E$$

$$\frac{3}{2} \hbar \omega$$

$$\frac{5}{2} \hbar \omega$$

$$V^1 = -\frac{e E d}{\sqrt{2}} \begin{pmatrix} 0 & 1 & 0 & 0 \\ 1 & 0 & \sqrt{2} & 0 \\ 0 & \sqrt{2} & 0 & \sqrt{2} \\ 0 & 0 & \sqrt{2} & 0 \end{pmatrix}$$

$$H = \begin{pmatrix} \frac{1}{2} \hbar \omega & -\frac{e E d}{\sqrt{2}} & 0 \\ -\frac{e E d}{\sqrt{2}} & \frac{3}{2} \hbar \omega & 0 \\ 0 & 0 & -e B d & \frac{5}{2} \hbar \omega \end{pmatrix}$$

$$A = \hbar \omega \quad B = \frac{e E d}{\sqrt{2}}$$

$$\begin{pmatrix} \frac{1}{2} A - \lambda & -B \\ -B & \frac{3}{2} A - \lambda \end{pmatrix}$$

$$\rightarrow \det = \frac{3}{4} A^2 - B^2 = \left(\frac{\sqrt{3}}{2} A - B \right) \left(\frac{\sqrt{3}}{2} A + B \right)$$

$$\left(\frac{1}{2} A - \lambda \right) \left(\frac{3}{2} A - \lambda \right) - B^2 = \frac{3}{4} A^2 - 2A\lambda + \lambda^2 - B^2$$

$$\lambda_{1,2} = \frac{+2A \pm \sqrt{A^2 + 4B^2}}{2}$$

$$\lambda^2 - 2A\lambda + \frac{3}{4} A^2 - B^2$$

$$D = 4A^2 - 4 \left(\frac{3}{4} A^2 - B^2 \right) = 4A^2 - 3A^2 + 4B^2$$

$$= A \pm \frac{1}{2} \sqrt{A^2 + 4B^2} = A \pm \frac{1}{2} A \sqrt{1 + \frac{4B^2}{A^2}}$$

$$= A^2 + 4B^2$$

$$2A \pm \frac{1}{2} A \left(1 + \frac{4B^2}{A^2} - \frac{16B^4}{4A^4} \right) \oplus A$$

$$d\lambda = \sqrt{\frac{E}{m\omega}}$$

$$\lambda = A - \frac{1}{2} A + \frac{4B^2}{4A} + \frac{16B^4}{4A^3} = \hbar \omega = \frac{1}{2} \hbar \omega + \frac{e^2 E^2 d^2}{2 m \omega^2} = \frac{1}{2} \hbar \omega + \frac{e^2 E^2}{2 m \omega^2}$$

after approx

$$H = \begin{pmatrix} \frac{1}{2} \hbar \omega - \frac{eEd}{\sqrt{2}} & \\ -\frac{eEd}{\sqrt{2}} & \frac{3}{2} \hbar \omega \end{pmatrix} = \begin{pmatrix} \frac{1}{2} A & -B \\ -B & \frac{3}{2} A \end{pmatrix}$$

$$\begin{vmatrix} \frac{1}{2} A - d & -B \\ -B & \frac{3}{2} A - d \end{vmatrix} = \left(\frac{1}{2} A - d\right)\left(\frac{3}{2} A - d\right) + B^2$$

$$= \frac{3}{4} A^2 + d^2 - 2Ad + B^2 + d^2 - 2Ad + \frac{3}{4} A^2 + B^2 \quad \text{OK}$$

$$D = 4A^2 - 4\left(\frac{3}{4} A^2 + B^2\right) = 4A^2 - 3A^2 - 4B^2 = A^2 - 4B^2$$

$$d_{1,2} = \frac{2A \pm \sqrt{A^2 - 4B^2}}{2} = A \pm \frac{1}{2} \sqrt{A^2 - 4B^2} = A \pm \frac{1}{2} A \sqrt{1 - \frac{4B^2}{A^2}}$$

$$= A \pm \frac{1}{2} A \left(1 + \frac{4B^2}{2A^2} - \frac{16B^4}{8A^4} \dots\right)$$

$$= A \pm \frac{1}{2} A \left(\frac{1}{2} A + \frac{B^2}{A} - \frac{B^4}{A^3} \dots\right)$$

$$\Rightarrow A \pm \frac{1}{2} A = A - \left(\frac{1}{2} A + \frac{B^2}{A} - \frac{B^4}{A^3} \dots\right) = \frac{1}{2} A - \frac{B^2}{A} + \frac{B^4}{A^3} \dots$$

$$= \frac{1}{2} \hbar \omega - \frac{e^2 E^2 d^2}{2 \hbar \omega} + \frac{e^4 E^4 d^4}{2 \hbar^3 \omega^3}$$

$$d = \frac{\hbar}{m\omega}$$

$$= \frac{1}{2} \hbar \omega - \frac{e^2 E^2}{2 m \omega^2} + \frac{e^4 E^4}{2 \hbar m^2 \omega^5} + \dots$$

OK actually errors



$$\Delta E^{(2)} = \sum_i \frac{|\langle \phi | V' | i \rangle|^2}{E_0 - E_i} = \sum_i \frac{|\langle \phi | V' | 1 \rangle|^2}{\frac{1}{2} \hbar \omega - \frac{3}{2} \hbar \omega} = \frac{\left| -\frac{eEd}{\sqrt{2}} \right|^2}{-\hbar \omega} = -\frac{e^2 E^2 d^2}{2 \hbar \omega} = -\frac{e^2 E^2}{2 m \omega^2} \quad \text{OK}$$

cancelled by higher-order contributions

$$\Delta E^{(4)} = \frac{\langle \phi | V' | 1 \rangle \langle 1 | V' | 2 \rangle \langle 2 | V' | 1 \rangle \langle 1 | V' | \phi \rangle}{\hbar^2 (\epsilon_0 - \epsilon_1)(\epsilon_0 - \epsilon_2)^2} = \frac{e^4 E^4 d^4}{4 \hbar^2 \omega^3} = \frac{e^4 E^4 \hbar^2}{2 \hbar^2 \omega^3 \cdot 2 \frac{\hbar^2 \omega^2}{m^2}} = \frac{e^4 E^4}{4 \hbar \omega^5 \frac{\hbar^2}{m^2}}$$



$$f'(x, x_0) = \frac{1}{\sqrt{2\pi}} e^{-\frac{(x-x_0)^2}{2d^2}}$$

$$H = \frac{h^2}{2m} + \frac{1}{2} m \omega^2 x^2 - e E x \quad \frac{h^2}{2m} = \frac{(\hbar \omega)^2}{2m} = -\frac{\hbar^2}{2m} \frac{d^2}{dx^2}$$

$$\begin{aligned} \langle T \rangle(x_0) &= \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{(x-x_0)^2}{2d^2}} \left(-\frac{\hbar^2}{2m}\right) \frac{d^2}{dx^2} e^{-\frac{(x-x_0)^2}{2d^2}} \\ &= \frac{1}{\sqrt{2\pi}} \left(-\frac{\hbar^2}{2m}\right) \int_{-\infty}^{\infty} e^{-\frac{(x-x_0)^2}{2d^2}} \frac{d}{dx} \left[-\frac{(x-x_0)}{d^2} e^{-\frac{(x-x_0)^2}{2d^2}} \right] \\ &= \left[-\frac{1}{d^2} + \frac{(x-x_0)^2}{d^4} \right] e^{-\frac{(x-x_0)^2}{2d^2}} \end{aligned}$$

$$= \frac{1}{\sqrt{2\pi}} \left(-\frac{\hbar^2}{2m}\right) \int_{-\infty}^{\infty} e^{-\frac{(x-x_0)^2}{2d^2}} \left[-\frac{1}{d^2} + \frac{(x-x_0)^2}{d^4} \right]$$

* $y = x - x_0$
 $dy = dx$ $e^{-y^2} \rightarrow d\sqrt{\pi}$

$$= \frac{1}{\sqrt{2\pi}} \left(-\frac{\hbar^2}{2m}\right) \left[\int_{-\infty}^{\infty} e^{-\frac{y^2}{2d^2}} dy - \frac{d^2}{2d^4} \int_{-\infty}^{\infty} y^2 e^{-\frac{y^2}{2d^2}} dy \right]$$

$$= -\frac{\hbar^2}{2m} \left[-\frac{1}{d^2} + \frac{1}{2d^2} \right] = \frac{1}{2} \frac{m \omega^2}{\hbar} \frac{\hbar^2}{2m} = \frac{1}{4} \hbar \omega \quad \text{OK}$$

$$\langle x^2 \rangle = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{(x-x_0)^2}{2d^2}} x^2 dx = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{y^2}{2d^2}} (y+x_0)^2 dy$$

\leftarrow need to shift on x_0 data takes 4

$$= \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{y^2}{2d^2}} (y^2 + 2x_0 y + x_0^2) dy$$

$$= \frac{1}{\sqrt{2\pi}} \left[\int_{-\infty}^{\infty} \frac{y^2}{2} e^{-\frac{y^2}{2d^2}} dy + x_0^2 \int_{-\infty}^{\infty} e^{-\frac{y^2}{2d^2}} dy \right] = \frac{d^2}{2} + x_0^2$$

$$\langle x \rangle = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{(x-x_0)^2}{2d^2}} x dx = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{y^2}{2d^2}} (y+x_0) dy$$

$$= \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{y^2}{2d^2}} x_0 dy = x_0$$

$$\langle E \rangle_{x_0} = \frac{1}{4} \hbar \omega + \frac{1}{2} m \omega^2 \left(\frac{d^2}{2} + x_0^2 \right) - e E x_0 = \frac{1}{4} \hbar \omega + \frac{1}{2} m \omega^2 x_0^2 - e E x_0$$

$$\frac{d \langle E \rangle_{x_0}}{d x_0} = m \omega^2 x_0 - e E = 0 \quad \text{extremum}$$

$$x_0 = \frac{e E}{m \omega^2} \quad \text{OK}$$

$$\Delta E = \frac{1}{4} \hbar \omega + \frac{1}{2} m \omega^2 \frac{e^2 E^2}{m^2 \omega^4} - \frac{e^2 E^2}{m \omega^2}$$

$$= \frac{1}{4} \hbar \omega + \frac{1}{2} \frac{e^2 E^2}{m \omega^2} - \frac{e^2 E^2}{m \omega^2}$$

$$= \frac{1}{4} \hbar \omega - \frac{1}{2} \frac{e^2 E^2}{m \omega^2} \quad \text{OK}$$

$$H_0 = \frac{p^2}{2m} + \frac{1}{2} m \omega^2 x^2 - eV$$

2022-UKM-T 4.4

$$f(x) = \frac{1}{\sqrt{1+c^2}} \frac{1}{\sqrt{\alpha} \sqrt{L_0}} \left(1 + \sqrt{2} c \frac{x}{\alpha} \right) e^{-\frac{x^2}{2\alpha^2}} = \frac{1}{\sqrt{1+c^2}} (\phi) + c(\psi)$$

$$E(c) = \langle f | \hat{H} | f \rangle = \frac{1}{\sqrt{1+c^2}} \left(\langle \phi | + c \langle \psi | \right) H (\phi) + c(\psi)$$

$$= \frac{1}{1+c^2} \left(\langle \phi | + c \langle \psi | \right) (H_0 + V) (\phi) + c(\psi)$$

↑
assume real

$$= \frac{1}{1+c^2} \left[\langle \phi | H_0 | \phi \rangle + c^2 \langle \psi | H_0 | \psi \rangle + c \langle \phi | H_0 | \psi \rangle + c \langle \psi | H_0 | \phi \rangle \right. \\ \left. + \langle \phi | V | \phi \rangle + c^2 \langle \psi | V | \psi \rangle + c \langle \phi | V | \psi \rangle + c \langle \psi | V | \phi \rangle \right]$$

$$= \frac{1}{1+c^2} \left[\frac{1}{2} \hbar \omega + c^2 \frac{5}{2} \hbar \omega + \langle \phi | + c \langle \psi | \right. \\ \left. \left(\frac{1}{2} c^2 \hbar \omega + c^2 \hbar \omega \right) + 2c \left(-\frac{eEd}{\sqrt{2}} \right) \right]$$

$$= \frac{1}{2} \hbar \omega + \frac{1}{1+c^2} \underbrace{\left[c^2 \hbar \omega + 2c \left(-\frac{eEd}{\sqrt{2}} \right) \right]}_{\Delta E}$$

$$\frac{d \Delta E}{dc} = -\frac{1}{(1+c^2)^2} \left[c^2 \hbar \omega + 2c \left(-\frac{eEd}{\sqrt{2}} \right) \right] + \frac{1}{1+c^2} \left(2c \hbar \omega + 2 \left(-\frac{eEd}{\sqrt{2}} \right) \right)$$

$$= \frac{1}{(1+c^2)^2} \left[c^2 \hbar \omega + 2c \frac{eEd}{\sqrt{2}} + (1+c^2) \left(2c \hbar \omega + 2 \frac{eEd}{\sqrt{2}} \right) \right]$$

$$c^2 \hbar \omega - 2c \frac{eEd}{\sqrt{2}} + 2c \hbar \omega + 2c^3 \hbar \omega - \frac{2cEd}{\sqrt{2}} - 2 \frac{eEd}{\sqrt{2}} \} = 0$$

... ?

$$\vec{L} = \vec{r} \times \vec{p} = -i\hbar \left(\underbrace{y \frac{\partial}{\partial z} - z \frac{\partial}{\partial y}}_{L_x}, \underbrace{z \frac{\partial}{\partial x} - x \frac{\partial}{\partial z}}_{L_y}, \underbrace{x \frac{\partial}{\partial y} - y \frac{\partial}{\partial x}}_{L_z} \right) \quad (3D)$$

$$[L_x, L_y] = -\hbar^2 \left[y \frac{\partial}{\partial z} - z \frac{\partial}{\partial y}, z \frac{\partial}{\partial x} - x \frac{\partial}{\partial z} \right] = -\hbar^2 \left[y \frac{\partial}{\partial z}, z \frac{\partial}{\partial x} \right] - \hbar^2 \left[-z \frac{\partial}{\partial y}, x \frac{\partial}{\partial z} \right]$$

$$= -\hbar^2 \left(y \frac{\partial}{\partial z} z \frac{\partial}{\partial x} - z \frac{\partial}{\partial x} y \frac{\partial}{\partial z} \right) + \hbar^2 \left(z \frac{\partial}{\partial y} x \frac{\partial}{\partial z} - x \frac{\partial}{\partial z} z \frac{\partial}{\partial y} \right)$$

$$= -\hbar^2 y \frac{\partial}{\partial x} \left(\frac{\partial}{\partial z} z - z \frac{\partial}{\partial z} \right) + \hbar^2 z \frac{\partial}{\partial y} x \left(\frac{\partial}{\partial z} z - \frac{\partial}{\partial z} z \right)$$

$$\left(\frac{\partial}{\partial z} z - z \frac{\partial}{\partial z} \right) f(z) = \frac{\partial}{\partial z} z f(z) - z \frac{\partial f}{\partial z} = f(z) z + z \frac{\partial f}{\partial z} - z \frac{\partial f}{\partial z} = f(z) = 1 \cdot f(z)$$

$$= -\hbar^2 y \frac{\partial}{\partial x} + \hbar^2 z \frac{\partial}{\partial y} x = i\hbar i\hbar \left(y \frac{\partial}{\partial x} - \frac{\partial}{\partial y} x \right) = i\hbar (y p_x - p_y x) = i\hbar L_z$$

$[x, p_x], \dots [x, p_y], \dots [x, p_z], \dots [L_x, L_y]$ Eigen?

$$\vec{L} = \vec{r} \times \vec{p} = (y p_z - z p_y, z p_x - x p_z, x p_y - y p_x)$$

$$[x, p_x] f = x p_x f - p_x x f = x p_x f - (-i\hbar) \frac{\partial}{\partial x} x f = x (-i\hbar) \frac{\partial f}{\partial x} + i\hbar f + i\hbar x \frac{\partial f}{\partial x}$$

$$\Rightarrow [x, p_x] = i\hbar \quad = i\hbar f$$

$$[x, L_x] = [x, y p_z - z p_y] = 0$$

$$[x, L_y] = [x, z p_x - x p_z] = [x, z p_x] - [x, x p_z] = z [x, p_x] = i\hbar z$$

$$[x, L_z] = [x, x p_y - y p_x] = [x, x p_y] - [x, y p_x] = 0 - y [x, p_x] = -i\hbar y$$

$$[p_x, L_y] = [p_x, z p_x - x p_z] = [p_x, z p_x] - [p_x, x p_z] = -\hbar [p_x, x] = i\hbar p_z$$

$$[L_x, L_y] = [y p_z - z p_y, z p_x - x p_z] = [y p_z, z p_x] + [z p_y, x p_z] =$$

$$= y p_x [p_z, z] + p_z x [z, p_x] = y p_x (-i\hbar) + i\hbar p_z x = i\hbar (p_x p_y - y p_x) = i\hbar L_z$$

$$L^2 = L_x^2 + L_y^2 + L_z^2$$

$$[L^2, L_x] = [L_x^2 + L_y^2 + L_z^2, L_x] = [L_y^2, L_x] + [L_z^2, L_x]$$

$$= L_y^2 L_x - L_x L_y^2 + L_z^2 L_x - L_x L_z^2$$

$$= L_y^2 L_x - L_y L_x L_y + L_y L_x L_y - L_x L_y L_y + L_z^2 L_x - L_z L_x L_z + L_z L_x L_z - L_x L_z^2$$

$$= L_y \underbrace{[L_y, L_x]}_{-i\hbar L_z} + \underbrace{[L_y, L_x]}_{-i\hbar L_z} L_y + L_z \underbrace{[L_z, L_x]}_{i\hbar L_y} + \underbrace{[L_z, L_x]}_{i\hbar L_y} L_z$$

$$= -2i\hbar L_y L_z + 2i\hbar L_y L_z = 0$$